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Boom sections choice

To select the correct boom section, you will need to know
the sail foot length (E) and righting moment (RM). If the
RM is not known, displacement is an alternative.
The E and Y measurements must also be known for L | q
dimensioning purposas. The length of the boom is some- AT F
times determined by other factors than E and therefore 1\ ;
we need the 5 measurement aswell. A pood example is i .
when the boom extrusion needs an overlength to allow ———le E >
the main sheet to pass a spravhood.
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